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Example	showing	bias	caused	by	grass	and	binned	 likelihood	 fitting



Central	Hijing	test	- 2017-05-23	- In	simulation	meeting
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• Assuming	 initial	vertexing	resolution	100	micron
• Seeding:	5/7	TPC	{7,	15,	25,	35,	45,	55,	66}
• Outside-in	propagation
• Search	win:	5𝜎
• 𝜒2 <	20

Full	fitting:	~	2min

In	simulation	meeting In	simulation	meeting



Central	Hijing	test	- 2017-05-23	- corrected
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• Assuming	 initial	vertexing	resolution	100	micron
• Seeding:	5/7	TPC	{7,	15,	25,	35,	45,	55,	66}
• Outside-in	propagation
• Search	win:	5𝜎
• 𝜒2 <	20

Full	fitting:	~	2min

corrected corrected


